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COMBINED LIBRARY EXAMINATION IN TAMIL NADU STATE AND SUBORDINATE 
SERVICES – 13/05/2023 & 14/05/2023 

 
1. Who among the following excavated Arikkamedu? 

a. K. Rajan   b. Mortimer Wheeler  c. S.R. Rao 
d. Alexander Rea  e. Answer not known 
gpd;tUth;fSs; mhpf;fNkL mfo;tha;tpid Nkw;nfhz;lth; ahh;? 
a. K. uh[d;   b. khh;bkh; tPyh;   c. S.R. uht; 
d. mnyf;];rhz;lh; hpNah e. tpil njhpatpy;iy 
 

2. Who founded the Arya Samaj in 1875? 
a. Ishwar Chandra Vidyasagar b. Dayananda Saraswati  c. Raja Ram Mohan Roy 
d. M.G. Ranade   e. Answer not known 
1875 ,y; Mh;a rkh[j;ij epWtpath; ahh;? 
a. <];tu re;jpu tpj;ahrhfh; b. jhade;j ru];tjp c. uh[h uhk; Nkhfd; uha; 
d. M.G. uhdNl   e. tpil njhpatpy;iy 
 

3. The Sangam Poets and literature were Patronised by 
a. Cholas    b. Pallavas    c. pandyas  
d. Cheras   e. Answer not known 
rq;fg;Gyth;fisAk;> ,yf;fpaq;fisAk; Mjhpj;jth;fs; 
a. Nrhoh;fs;   b. gy;yth;fs;  c. ghz;bah;fs; 
d. Nruh;fs;   e. tpil njhpatpy;iy 
    

4. V. O. Chidambaram started Swadeshi steam navigation company in the year 
a. 1905 b. 1906 c. 1907  d. 1908 e. Answer not known 
RNjrp fg;gy; epWtdj;ij t.c. rpjk;guk; epWtpa Mz;L  
a. 1905 b. 1906 c. 1907  d. 1908 e. tpil njhpatpy;iy 
 

5. In which year, Periyar E.V. Ramasamy was elected as the leader of the justice party 
a. 1936 b. 1938 c. 1940  d. 1941 e. Answer not known 
nghpahh; <.Nt. ,uhkrhkp ePjpf;fl;rpapd; jiytuhf Njh;e;njLf;fg;gl;l Mz;L  
a. 1936 b. 1938 c. 1940  d. 1941 e. tpil njhpatpy;iy 
 

6. Which of the following Drama was written by Annadurai? 
a. Neethi Devan Mayakkam b. kadal   c. Chanakyan  
d. Thenali Raman    e. Answer not known 
fPo;tUtdtw;wpy; ve;j ehlfk; NguwpQh; mz;zhJiuahy; vOjg;gl;lJ? 
a. ePjpNjtd; kaf;fk;  b. fly;  c. rhzf;fpad; 
d. njdhypuhkd;   e. tpil njhpatpy;iy 

 
7. Why did E.V. Ramaswamy Periyar quit from the congress party? 
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a. Having quarrel with Gandhi   
b. Having quarrel with C. Rajagopalachari 
c. Separate dining for Brahmin and Non – Brahmin students in congress sponsored 
schools 
d. Having quarrel with V.V.S. Iyer  
e. Answer not known 
Vd; <.nt. ,uhkrhkp nghpahiu fhq;fpu]; fl;rpapypUe;J tpyfpdhh;? 
a. fhe;jpAld; nfhz;bUe;j Kuz;ghL  
b. rp. ,uh[Nfhghyhr;rhhpAld; nfhz;bUe;j Kuz;ghL 
c. fhq;fpu]; elj;jpa gs;spapy; gpuhkzUf;Fk; gpuhkzh; my;yhjtUf;Fk; jdpj;jdpNa 
czTg; ge;jpapl;lJ 
d. t.Nt.R ma;ahplk; nfhz;l Kuz;ghL 
e. tpil njhpatpy;iy 
 

8. What is given the most emphasis in Thirukural by Thiruvalluvar? 

a. Education (Kalvi)   b. Friendship (Natpu) c. Listening (Kelvi) 
d. Discipline (Ozhukkam)  e. Answer not known 
jpUts;Sth;> jpUf;Fwspy; mjpfkhf typAWj;JtJ vjid? 
a. fy;tp   b. el;G   c. Nfs;tp 
d. xOf;fk;   e. tpil njhpatpy;iy 
 

9. Though Well-read Men might be; they will be considered as  
if they do not have good rapport with people in the society as said by Valluvar. 
a. uneducated    b. ignorant    c. blind 
d. dead one     e. Answer not known 
cyfj;NjhL xl;b xOfhjth; gy E}y;fisf; fw;wpUe;jhYk; vjidg; Nghy fUjg;gLthh; 
vd ts;Sth; Fwpg;gpLfpwhh; 
a. fy;yhjth;    b. mwptpy;yhjth;  c. FUlh; 
d. ,we;jtUf;Fr; rkkhdth; e. tpil njhpatpy;iy 
    

10. “Aalum Velum; Pallukkuruthi Naalum Irandum; Sollukkuruthi!”  
To what does “Naalum” and “Irandum” refer to? 
a. Nalaiyira Divya Prabhandam, Naladiyaar  
b. Nanmanikkadigai, Iniyavai Naarapathu 
c. Iniyavai Naaradhu, Inna Naarapathu 
d. Naladiyaar, Thirukkural 
e. Answer not known 
“MYk; NtYk; gy;Yf;FWjp 
ehYk; ,uz;Lk; nrhy;Yf;FWjp” 
vd;gjpy; ‘ehYk;> ,uz;Lk;’ vd;gJ vjidf; Fwpf;fpwJ? 
a. ehyhapu jpt;tpag; gpuge;jk;> ehybahh; 
b. ehd;kzpf;fbif> ,dpait ehw;gJ 
c. ,dpait ehw;gJ> ,d;dh ehw;gJ 
d. ehybahh;> jpUf;Fws; 
e. tpil njhpatpy;iy 
 

11. What suffering will not come near people who abstain themselves from Lust, Anger 
and confusion according to Valluvar? 
a. Spouse Suffering (Thunaiviuyaar Thunbam) 
b. Congenital Malformation (Piravi Thunbam) 
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c. Ancestor suffering (Munnor Vazhi Thunbam) 
d. Suffering from hunger (Pasi Thunbam) 
e. Answer not known 
“fhkk;> ntFsp> kaf;fk;” ,e;j %d;W Fw;wq;fSk; ,y;yhjtUf;F vj;Jd;gk; tuhJ vd 
ts;Sth; $Wfpwhh;? 
a. Jiztpahh; Jd;gk;  b. gpwtpj; Jd;gk; 
c. Kd;Ndhh; topj;Jd;gk;  d. grpj;Jd;gk; 
e. tpil njhpatpy;iy 
 

12. Who are the “Gnanpeed” awardees among Tamil Writers? 
a. Jeuakanthan, Pudumaipithan  b. Pudumainpithan, Akilan  
c. Akilan, So. Dharman  d. Jeyakanthan, Akilan 
e. Answer not known  
‘QhdgPl’ tpUJ ngw;w jkpo; vOj;jhsh;fs; ahth;? 
a. n[afhe;jd;> GJikg;gpj;jd; b. GJikg;gpj;jd;> mfpyd; 
c. mfpyd;> Nrh. jh;kd;  d. n[afhe;jd;> mfpyd; 
e. tpil njhpatpy;iy 
 

13. Who are hailed as ‘Four Saivasamaya Kuravar’? 
a. poykaiyazhwar, Boothathazhwar, Peyazhwar, Nammazhwar 
b. Periyazhwar, Aandal, Nammazhwar, Kulasekarar 
c. Sambandar, Navukkarasar, Sundarar, Manikkavasakar 
d. Tirumoolar, Appar, Sundarar, Sambandar 
e. Answer not known 
‘irtrkaf; Futh; ehy;th;’ vdg; Nghw;wg;gLNthh; 
a. ngha;ifaho;thh;> G+jj;jho;thh;> Ngaho;thh;> ek;kho;thh; 
b. nghpaho;thh;> Mz;lhs;> ek;kho;thh;> FyNrfuh;’ 
c. rk;ge;jh;> ehTf;furh;> Re;juh;> khzpf;fthrfh; 
d. jpU%yh;> mg;gh;> Re;juh;> rk;ge;jh; 
e. tpil njhpatpy;iy 
 

14. Which is the literature that has been sung only in “Paadaan Tinai? 
a. Pathitrupathu  b. Puranaanooru  c. Madurai Kanchi 
d. Malaipadukadam e. Answer not known 
‘ghlhz; jpiz’ vDk; xNu jpizia kl;Lk; nfhz;L ghlg;gl;l gDty; 
a. gjpw;Wg;gj;J  b. GwehD}W   c. kJiuf;fhQ;rp 
d. kiygLflhk;  e. tpil njhpatpy;iy 
 

15. Where is the headquarters of the Theosophical Society located? 
a. Triplicane   b. Adayar    c. Madurai 
d. Tirunelveli   e. Answer not known 
jpNahrgpfy; nrhirl;bapd; jiyikafk; mike;Js;s ,lk; vJ? 
a. jpUty;ypf;Nfzp  b. milahW   c. kJiu 
d. jpUney;Ntyp  e. tpil njhpatpy;iy 
 

16. Human Development Index measures the average achievement in basic dimensions of 
human development 
I. A long and healthy life as measured by life expectancy at birth  
II. Productivity as measured by energy requirements 
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III. Knowledge as measured by the adult literacy rate 
IV. A decent standard of living as measured by GDP per capita 
a. I, II and IV   b. II, III and IV  c. I, III and IV  
d. I, II and III   e. Answer not known 
kdpj tsh;r;rpf; FwpaPL kdpj tsh;r;rpapd; mbg;gil ghpkhzq;fspy; ruhrhp rhjidia 
mstpLfpwJ. 
I. gpwf;Fk;NghJ vjph;ghh;f;fg;gLk; MAl;fhyj;jhy; mstplg;gLk; ePz;l kw;Wk; 
MNuhf;fpakhd tho;f;if 
II. Mw;wy; Njitfshy; mstplg;gLk; cw;gj;jpj;jpwd; 
III. taJ te;NjhUf;fhd fy;tpawpT tpfpjj;jhy; mstplg;gLk; mwpT 
IV. jdpegh; nkhj;j cs;ehl;L cw;gj;jpahy; mstplg;gLk; nfsutkhd tho;f;ifj; juk; 
a. I, II kw;Wk; IV  b. II, III kw;Wk; IV  c. I, III kw;Wk; IV 
d. I, II kw;Wk; III  e. tpil njhpatpy;iy 
 

17.                        was India’s first woman Governor, a Political Activist, member of the 
Indian National Congress and a poet. 
a. Vijayalakshmi Pandit  b. Sarojini Naidu  c. Muthulakshmi Reddy 
d. Annie Besant    e. Answer not known 
,e;jpahtpd; Kjy; ngz; fth;duhf> murpaypy; <LghL cilatuhf> ,e;jpa Njrpa 
fhq;fpu]pd; cWg;gpduhf kw;Wk; xU ftpQuhfTk; jpfo;e;jth; ________ 
a. tp[ayl;Rkp gz;bl;  b. rNuh[pdp ehAL  c. Kj;Jyl;Rkp nul;b 
d. md;dp ngrz;l;   e. tpil njhpatpy;iy 
 

18. Which of the following is correctly matched? 
I. Karur  -  Bus body building 
II. Thoothukudi -  Major chemical producer 
III. Salem  -  Steel city 
IV. Erode  -  Automobile spare parts 
a. I and II   b. II and III    c. II and IV 
d. I, II and III  e. Answer not known 
gpd;tUtdtw;wpy; vJ rhpahfg; nghUe;JfpwJ? 
I. f&h;   - NgUe;J clyq;fl;Leh; 
II. J}j;Jf;Fb - Kf;fpa ,urhad cw;gj;jp 
III. Nryk;  - v/F efuk; 
IV. <NuhL  - thfd cjphpghfq;fs; 
a. I kw;Wk; II  b. II kw;Wk; III   c. II kw;Wk; IV 
d. III kw;Wk; II  e. tpil njhpatpy;iy 
 

19. Choose the correct match: 
a. Madras Refineries Limited – 1996 
b. Bharat Heavy Electrical Limited – 1992 
c. Madras Fertilisers Limited – 1968 
d. Ordnance Factory, Tiruchirapalli – 1960 
e. Answer not known 
nghUj;jkhdijj; Njh;e;njLf;f 
a. nkl;uh]; Rj;jpfhpg;G epiyak; - 1966 
b. ghuj; n`tp vyf;l;upf;fy; ypkpnll; - 1962 
c. nkl;uh]; cuj;njhopw;rhiy ypkpnll; - 1968 
d. MAjj; njhopw;rhiy> jpUr;rpuhg;gs;sp - 1960 
e. tpil njhpatpy;iy 
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20. National Tobacco Control Programme is implemented in Tamilnadu, since 

a. 2005 b. 2006 c. 2007  d. 2008 e. Answer not known    
‘Njrpag; Gifapiyf; fl;Lg;ghL’ jpl;lk;> jkpofj;jpy; ve;j Mz;L Kjy; 
nray;gLj;jg;gl;L tUfpwJ? 
a. 2005 b. 2006 c. 2007  d. 2008 e. tpil njhpatpy;iy 
 

21. Which article deals with the setting up of commission for scheduled castes and 
scheduled tribes? 
a. Article 338   b. Article 335   Article 332  
d. Article 334   e. Answer not known 
murpay; mikg;gpd; ve;jg; gphptpy; gl;bay; rhjpfs; kw;Wk; goq;FbapdUf;fhd 
Mizak; mikg;gJ gw;wpf; $WfpwJ? 
a. gphpT 338   b. gphpT 335   c. gphpT 332 
d. gphpT 334   e. tpil njhpatpy;iy 
 

22. In Tamil Nadu, there are/is _______ Regional Rural Banks functioning. They are/it is                        
______. 
a. Three, Pandyan Grama Bank, Pallavan Grama Bank and Cholan Grama Bank 
b. Two, Pallavan Grama Bank and Pandyan Grama Bank 
c. Four, Pandyan Grama Bank, Pallavan Grama Bank, Cholan Grama Bank and Tamil 
Grama Bank 
d. One, Tamil Grama Bank 
e. Answer not knowns 
jkpo;ehl;by; __________ gpuhe;jpa fpuhk tq;fp/tq;fpfs; nray;gLfpd;wJ./ 
nray;gLfpd;wd. mJ/mit _________ 
a. %d;W> ghz;bad; fpuhk tq;fp> gy;ytd; fpuhk tq;fp kw;Wk; Nrhod; fpuhk; tq;fp 
b. ,uz;L> gy;ytd; fpuhk tq;fp kw;Wk; ghz;bad; fpuhk tq;fp 
c. ehd;F> ghz;bad; fpuhk tq;fp> gy;ytd; fpuhk tq;fp> Nrhod; fpuhk; tq;fp> kw;Wk; 
jkpo; fpuhk tq;fp 
d. xd;W> jkpo; fpuhk tq;fp 
e. tpil njhpatpy;iy 
 

23. In which part of the Indian Constitution have been made for National Scheduled Castes 
and Scheduled Tribes, Other Backward Classes and Anglo Indians? 
a. Part XI   b. Part XVI   c. Part XXI 
d. Part XIII   E. Answer not known 
,e;jpa murpayikg;gpd; ve;jg; gphpT Njrpa mstpy; gl;baypd kw;Wk; goq;Fb 
,dkf;fs;> ,ju gpw;gLj;jg;gl;l gphptpdh; kw;Wk; Mq;fpy-,e;jpah;fSf;F rYif 
toq;fpwJ? 
a. gphpT XI   b. gphpT XVI   c. gphpT XXI 
d. gphpT XIII   e. tpil njhpatpy;iy 
 

24. Assertion [A] : The first All Women Police Station was setup in 1992.  
Reason [R] : To specifically cater to the complaints and grievances of women. 
a. [A] is false [R] is true 
b. [A] is true [R] is false 
c. Both [A] and [R] are true but [R] is not the correct explanation of [A] 
d. Both [A] and [R] are true and [R] is the correct explanation of [A] 
e. Answer not known 
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$w;W (A): 1992 Mk; Mz;L KjyhtJ midj;J kfsph; fhty; epiyak; 
mikf;fg;gl;lJ 
fhuzk; (R): Fwpg;ghfg; ngz;fspd; Gfhh;fisg; gjpT nra;tjw;fhfTk;> mth;fspd; 
Fiwfisf; fistjw;fhfTk; cUthf;fg;gl;lJ. 
a. (A) jtW (R) rhp 
b. (A) rhp (R) jtW 
c. (A) kw;Wk; (R) ,uz;Lk; rhp> Mdhy; (R) vd;gJ (A) tpw;fhd rhpahd tpsf;fky;y 
d. (A) kw;Wk; (R) ,uz;Lk; rhp NkYk; (R) vd;gJ (A) tpw;fhd rhpahd tpsf;fkhFk; 
e. tpil njhpatpy;iy 

 
25. Social movement is one of the major forms of  

a. Collective Behaviour  b. Religious Behaviour c. Cultural Behaviour  
d. Individual Behaviour   e. Answer not known 
r%f ,af;fk; vd;gJ _________ vd;gjd; xU ,d;wpaikahj tbtkhFk; 
a. $l;L elj;ij   b. kj elj;ij  c. fyhr;rhu elj;ij 
d. jdpkdpj elj;ij  e. tpil njhpatpy;iy 
 

26. If a person pays an interest of Rs. 750 for 2 years on a sum of Rs. 4,500. Find the rate of 
interest. 

a. 6%  b. 
1

7 %
2

 c. 
1

8 %
3

 d. 
1

9 %
4

 e. Answer not known 

xUth; Rs. 4500-f;F ,uz;L Mz;LfSf;F tl;bahf Rs. 750 nfhLj;jhy; tl;b tPjk; 
vd;d? 

a. 6%  b. 
1

7 %
2

 c. 
1

8 %
3

 d. 
1

9 %
4

 e. tpil njhpatpy;iy 

 
27. A sum of Rs. 6,000 amounts to Rs. 7,200 in four years under simple interest. What is the 

percentage rate of interest? 
a. 4%  b. 4.5% c. 5%  d. 5.5% e. Answer not known 
Rs. 6>000 mryhdJ 4 Mz;Lfs; jdptl;bAld; Nrh;j;J Rs. 7>200 njhifahf 
mjpfhpf;fpwJ vdpy; jdptl;bf;fhd rjtPjk; 
a. 4%  b. 4.5% c. 5%  d. 5.5% e. tpil njhpatpy;iy 
 

28. A certain sum of money amounts to Rs. 8,880 in 6 years and Rs. 7,920 in 4 years 
respectively. Find the principle. 
a. Rs. 5,000   b. Rs. 5,500   c. Rs. 6,000 

d. Rs. 6,500   e. Answer not known  
Fwpg;gpl;l mryhdJ 6 Mz;Lfspy; Rs. 8>880 MfTk; 4 Mz;Lfspy; Rs. 7>920 MfTk; 
khWfpwJ vdpy; mriyf; fhz;f. 
a. Rs. 5,000   b. Rs. 5,500   c. Rs. 6,000 

d. Rs. 6,500   e. tpil njhpatpy;iy 
 

29. In how many years will a particular amount becomes three times of its principal at 8% 
rate of interest? 
a. 20 years   b. 25 years   c. 30 years  
d. 35 years   e. Answer not known 
xU Fwpg;gpl;l mryhdJ 8% tl;b tPjj;jpy; vj;jid Mz;Lfspy; %d;W klq;fhFk; 
vdf; fhz;f? 
a. 20 Mz;Lfs;  b. 25 Mz;Lfs;  c. 30 Mz;Lfs; 
d. 35 Mz;Lfs;  e. tpil njhpatpy;iy 



 

7 | P a g e  APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187     http://www.appolosupport.com/ 

 

 
30. How many 4’s are there in the following series which are just preceded by 7 but not 

immediately followed by 3? 
5432174362741537428743 
a. 5  b. 4  c. 3  d. 2  e. Answer not known 
fPo;fz;l njhlhpy; vj;jid 4 vd;w vz;Zf;F Kd;dhy; 7 vd;w vz;Zk; clNd 
njhlhe;J 3 vd;w tuhkYk; ,Ug;gijf; fhz;f. 
5432174362741537428743 
a. 5  b. 4  c. 3  d. 2  e. tpil njhpatpy;iy 
 

31. A fair die is rolled. Find the probability of getting an even number on multiple of 3? 

a. 
5

6
  b. 

1

3
  c. 

2

3
  d.

1

6
  e. Answer not known  

xU rPuhd gfilia cUl;Lk;NghJ xU ,ul;il vz; my;yJ 3d; klq;F ngWtjw;fhd 
epfo;jfT. 

a. 
5

6
  b. 

1

3
  c. 

2

3
  d.

1

6
  e. tpil njhpatpy;iy 

 
32. If 48 man working 7 hours a day can do a work in 24 days. Then in how many days will 

28 men working 8 hours a day can complete the same work? 
a. 36  b. 16  c. 12  d. 48  e. Answer not known 
48 Mz;Lfs; xU Ntiyia ehnshd;Wf;F 7 kzp Neuk; Ntiy nra;J 24 ehl;fspy; 
Kbg;gh; vdpy;> 28 Mz;fs; mNj Ntiyia ehnshd;Wf;F 8 kzp Neuk; Ntiy nra;a 
MFk; ehl;fs; 
a. 36  b. 16  c. 12  d. 48  e. tpil njhpatpy;iy 
 

33. The area of a rhombus is 100 cm2 and the length of one of its diagonals is 8 cm. Find the 
length of the other diagonal. 
a. 12 cm  b. 25 cm  c. 40 cm  d. 52 cm e. Answer not known 
xU rha; rJuj;jpd; gug;gsT 100 r.nr.kP kw;Wk; xU %iytpl;lj;jpd; msT 8 nrkP 
vdpy;> kw;nwhU %iytpl;lj;jpd; msitf; fhz;f 
a. 12 nrkP b. 25 nrkP c. 40 nrkP d. 52 nrkP e. tpil njhpatpy;iy 
 

34. A rectangular paper of width 14 cm is rolled along its width and a cylinder of radius 20 

cm is formed. Find the volume of the cylinder 
22

7

 

= 
 

. 

a. 17600 cm2   b. 17600 cm3    c. 1760 cm2    
d. 1760 cm3    e. Answer not known 
14 nr.kP mfyk; nfhz;l xU nrt;tf tbtj;jhspd;> mfyg; gf;fq;fis xd;wpizj;J 
20 nr.kP Muk; nfhz;l xU cUisia cUthf;fpdhy; mjd; fdmsT ahJ? 

22

7

 

= 
 

 

a. 17600 cm2   b. 17600 cm3    c. 1760 cm2    
d. 1760 cm3    e. tpil njhpatpy;iy 
 

35. In a parallelogram the base is three times its height. If the height is 8 cm then the area is  
a. 64 sq.cm   b. 192 sq.cm   c. 32 sq.cm   
d. 72 sq.cm   e. Answer not known 
xU ,izfuj;jpd; mbg;gf;fk; mjd; cauj;ij Nghy; %d;W kl;q;F cauk; 8 nrkP 
vdpy; mjd; gug;G 
a. 64 sq.cm   b. 192 sq.cm   c. 32 sq.cm   
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d. 72 sq.cm   e. tpil njhpatpy;iy 
 

36. The L.C.M. of 2y – 6, 2y2 – 18 is  
a. 2 (y + 3)   b. 2(y – 3)   c. 2 (y – 3) (y + 3)  
d. 2 (y- 6) (y + 6)  e. Answer not known 
2y – 6, 2y2 – 18 Mfpatw;wpd; kP.ngh.k 
a. 2 (y + 3)   b. 2(y – 3)   c. 2 (y – 3) (y + 3)  
d. 2 (y- 6) (y + 6)  e. tpil njhpatpy;iy 
 

37. A person saved money every year, half as much as he could in the previous year. If he 
had totally saved Rs. 7,875 in 6 years then how much did he save in the first year? 
a. 2600 b. 3000 c. 1500  d. 4000 e. Answer not known 
xU egh; xt;Nthh; Mz;Lk; mjfw;F Ke;ija Mz;L Nrkpj;j njhifapy; ghjpiar; 
Nrkpf;fpwhh;. 6 Mz;Lfspy; mth; Rs. 7>875-Ir; Nrkpf;fpwhh; vdpy;> Kjy; Mz;by; mth; 
Nrkpj;j njhif vt;tsT? 
a. 2600 b. 3000 c. 1500  d. 4000 e. tpil njhpatpy;iy 
 

38. The next term of the series 2, 6, 14, 30 is ______. 
a. 42  b. 38  c. 36  d. 62  e. Answer not known 
2> 6> 14> 30> vd;w njhlhpy; mLj;j vz;izf; fhz;f. 
a. 42  b. 38  c. 36  d. 62  e. tpil njhpatpy;iy 
 

39. Find the sum of 3, 7, 11, ….. 40 terms. 
a. 2340 b. 3240 c. 3640  d. 3140 e. Answer not known 
3> 7> 11> … vd;w njhlhpy; 40 cWg;Gfs; tiu $Ljy; fhz;f 
a. 2340 b. 3240 c. 3640  d. 3140  
e. tpil njhpatpy;iy 
 

40. Find the 12th term form the last term of the A.P. – 2, - 4, - 6, …. - 100.  
a. 78  b. – 73  c. – 78  d. 87  e. Answer not known 
– 2, - 4, - 6, …. – 100 vd;w $l;Lj; njhlh;thpirapy; ,Wjp cWg;gpypUe;J 12tJ 
cWg;igf; fhz;f 
a. 78  b. – 73  c. – 78  d. 87  e. tpil njhpatpy;iy 
 

41. The L.C.M. of two numbers is 6 times their HCF. If the HCF is 12 and one of the number 
is 36 then find the other 
a. 24  b. 42  c. 12  d. 36  e. Answer not known 
,U vz;fspd; kP.rp.k mt;tpU cz;fspd; kP.ngh.t I Nghy; 6 klq;F. kP.ngh.t 12 
kw;Wk; ,tw;wpy; xU vz; 36 vdpy; kw;nwhU vz; fhz;f? 
a. 24  b. 42  c. 12  d. 36  e. tpil njhpatpy;iy 
 

42. Find the HCF of 27, 45 and 81. 
a. 27  b. 9  c. 15  d. 45  e. Answer not known 
27> 45 kw;Wk; 81 Mfpatw;wpd; kP.ngh.t fhz;f 
a. 27  b. 9  c. 15  d. 45  e. tpil njhpatpy;iy 
 

43. If D = 4 and COVER = 63 then what is the value of BASIS? 
a. 49  b. 50  c. 54  d. 55  e. Answer not known 
D = 4 kw;Wk; COVER = 63  vdpy; BASIS d; kjpg;G ahJ? 
a. 49  b. 50  c. 54  d. 55  e. tpil njhpatpy;iy 
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44. The monthly income of A and B are in the ratio 3 : 4 and their monthly expenditures are 
in the ratio 5 : 7. If each saves Rs. 5,000 per month. Find the monthly income of A, B? 
a. 30,000, 40,000  b. 40,000, 30,000  c. 40,000, 50,000 
d. 50,000, 70,000  e. Answer not known 
A kw;Wk; B MfpNahuJ khj tUkhdq;fspd; tpfpjk; 3 : 4 MfTk; mth;fspd; 
nryTfspd; tpfpjk; 5 : 7 MfTk; cs;sJ. xt;nthUtUk; khjk; Rs. 5>000 
Nrkpf;fpwhh;fs; vdpy;> A>B apd; khj tUkhdj;ij fhz;f 
a. 30,000, 40,000  b. 40,000, 30,000  c. 40,000, 50,000 
d. 50,000, 70,000  e. tpil njhpatpy;iy 
 

45. A mother is five times as old as her daughter. After 2 years, the mother will be four 
times as old as her daughter. What is the present age of Mother? 
a. 40 years    b. 20 years   c. 35 years   
d. 60 years   e. Answer not known 
xh; jhahh; jd;Dila kfspd; tajpidg;Nghy; 5 klq;F tajpy; nghpath;. 2 
Mz;LfSf;Fg; gpwF> jhahhpd; taJ> kfspd; taijg; Nghy; ehd;F klq;F vdpy;> 
jhahhpd; jw;Nghija taJ vd;d? 
a. 40 Mz;Lfs;  b. 20 Mz;Lfs;  c. 35 Mz;Lfs; 
d. 60 Mz;Lfs;  e. tpil njhpatpy;iy 
 

46. In a village of 121000 people, the ratio of men to women is 6 : 5. Find the number of 
men in the village 
a. 55000 b. 66000 c. 77000 d. 81000 e. Answer not known 
121000 Ngh; cs;s xU fpuhkj;jpy; Mz;fSk; ngz;fSk; 6 : 5 vd;w tpfpjj;jpy; 
cs;sdh;. vdpy; Mz;fs; vj;jid Ngh; mf;fpuhkj;jpy; cs;sdh; 
a. 55000 b. 66000 c. 77000 d. 81000 e. tpil njhpatpy;iy 

 
47. The shadow of a pole with the height of 8 m is 6 m. If the shadow of another pole 

measured at the same time is 30 m, find the height of the pole? 
a. 50 m  b. 45 m c. 40 m  d. 35 m e. Answer not known 
8 kP ePsKs;s fk;gj;jpd; epoypd; ePsk; 6 kP mNj Neuj;jpy; 30 kP epoy; Vw;gLj;Jk; 
mw;nwhU fk;gj;jpd; ePsk; vt;tsT? 
a. 50 kP  b. 45 kP  c. 40 kP  d. 35 kP  e. tpil njhpatpy;iy 
 

48. A soap factory produces 9600 soaps in 6 days working 15 hours a day. In how many 
days will it produce 14,400 soaps working 3 more hours a day? 
a. 7 ½ days    b. 15 days    c. 8 ½ days   
d .17 days   e. Answer not known 
xU Nrhg;Gj; njhopw;rhiyahdJ ehnshd;Wf;F 15 kzp Neuk; Ntiy nra;J 6 
ehl;fspy; 9>600 Nrhg;Gfisj; jahhpf;fpwJ. ehnshd;Wf;F $Ljyhf 3 kzp Neuk; Ntiy 
nra;J 14> 400 Nrhg;Gfs; jahhpf;f mjw;F vj;jid ehs;fs; MFk;? 
a. 7 ½ days    b. 15 days    c. 8 ½ days   
d .17 days    e. tpil njhpatpy;iy 
 

49. By selling a flower pot for Rs. 528 a woman gains 20%. At what price should she sell it 
to gain 25%? 
a. Rs. 500   b. Rs. 550   c. Rs. 553   
d. Rs. 573   e. Answer not known 
G+r;rl;b xd;iw Rs. 528 ,f;F tpw;W xU ngz; 20% ,yhgk; ngWfpwhh;. 25% ,yhgk; 
ngw mth; mij vd;d tpiyf;F tpw;f Ntz;Lk;? 
a. Rs. 500   b. Rs. 550   c. Rs. 553   
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d. Rs. 573   e. tpil njhpatpy;iy 
 

50. A family went to hotel and spent Rs. 350 for food and paid extra 5% GST. Calculate 
SGST. 
a. 8.25  b. 8.75  c. 8.20  d. 8.27  e. Answer not known 
xU FLk;gk; cztfk; nrd;W Rs.350 Ir; nrytpl;L $Ljyhfr; ruf;F kw;Wk; Nrit 
thpahf 5% nrYj;jpaJ vdpy; khepy ruf;F Nrit thpia fzf;fpLf.  
a. 8.25  b. 8.75  c. 8.20  d. 8.27  e. tpil njhpatpy;iy 
 

51. When will be rainfall called cloudburst? 
a. Level of rainfall is equal or greater than 100 mm 
b. Level of rainfall is lower than 20 mm 
c. Level of rainfall is between 20-50 mm 
d. Level of rainfall is between 50-70 mm 
e. Answer not known 
vg;NghJ kioahdJ “jpBh; ngU kio” vd;wiof;fg;gLfpd;wJ? 
a. kioapd; msthdJ 100 kpkP my;yJ mjw;F Nkyhf ,Ue;jhy; 
b. kioapd; msthdJ 20 kpkPf;F Fiwthf ,Ue;jhy; 
c. kioapd; msthdJ 20 Kjy; 50 kpkP ,ilNa ,Ue;jhy; 
d. kioapd; msthdJ 50 kpkP Kjy; 70 kpkP tiu ,Ue;jhy; 
e. tpil njhpatpy;iy 
 

52. The atmosphere is divided into four layers. Of which the layer in contact with the 
surface of the earth is called 
a. Stratosphere  b. Trophosphere   c. Mesosphere 
d. Ionosphere  e. Answer not known 
tspkz;lyk; ehd;F mLf;Ffshfg; gphpf;fg;gl;Ls;sJ. mtw;wpy; Gtpapd; Nkw;gug;Gld; 
njhlh;Gila mLf;F vJ? 
a. ];l;Nul;Nlh];gpah;  b. l;NuhNgh];gpah;  c. kPNrh];gpah; 
d. maNdh];gpah;  e. tpil njhpatpy;iy 
 

53. Brood pouch is found in  
a. Male seahorse  b. Sucker fish   c. Female seahorse 
d. Female shark  e. Answer not known 
milfhf;Fk; igahdJ fhzg;gLk; caphpdk; 
a. Mz; fly; Fjpiu b. cwpQ;R kPd;  c. ngz; fly; Fjpiu 
d. ngz; Rwh   e. tpil njhpatpy;iy 
 

54. Mule is a hybrid of  
a. Sheep and Donkey b. Horse and Pig  c. Donkey and Cow 
d. Horse and Donkey e. Answer not known 
NfhNtW fOij ,tw;wpd; fyg;gpdkhFk; 
a. ML kw;Wk; fOij b. Fjpiu kw;Wk; gd;wp c. fOij kw;Wk; khL 
d. Fjpiu kw;Wk; fOij e. tpil njhpatpy;iy 
 

55. The octane rating for premium gasoline is ________ 
a. 70  b. 91 to 94  c. 100  d. 0  e. Answer not known  
cah;ju NfN]hypd;fspd; Mf;Nld; vz;/kjpg;gPL __________ 
a. 70  b. 91 to 94  c. 100  d. 0  e. tpil njhpatpy;iy 
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56. Which of the following is incorrectly paired? 
(i) Beryllium   -  Crookesite 
(ii) Thalium  -  Colemanite 
(iii) Aluminium  -  Bauxite 
(iv) Germanium  -  Germanite 
a. (i) and (iv) only  b. (i) and (ii) only   c. (ii) and (iii) only  
d. (iii) and (iv) only   e. Answer not known 
fPo;f;fhz;gdtw;wpy; vit jtwhf ,izf;fg;gl;Ls;sd? 
(i) nghpypak;  - f;Uf;fpirw;W 
(ii) jhypak;  - Nfhy;kidl; 
(iii) mYkpdpak; - ghf;irl; 
(iv) n[h;khdpak; - n[h;kidl; 
a. (i) kw;Wk; (iv) kl;Lk;  b. (i) kw;Wk; (ii) kl;Lk; c. (ii) kw;Wk; (iii) kl;Lk; 
d. (iii) kw;Wk; (iv) kl;Lk; e. tpil njhpatpy;iy 
 

57. The Inertia of a body depends on  
a. Shape of the body  b. Velocity of the body c. Momentum of the body 
d. Mass of the body  e. Answer not known 
xU nghUspd; epiykk; _________ rhh;e;J ,Uf;Fk; 
a. nghUspd; tbtj;ijr;  b. nghUspd; jpirNtfj;ijr;  
c. nghUspd; ce;jj;ijr;  d. nghUspd; epiwiar; 
e. tpil njhpatpy;iy 

 
58. Super nova is a massive explosion of  

a. An asteroid   b. A dying star  c. A black hole  
d. A comet    e. Answer not known 
#g;gh; Nehth vd;gJ xU ________ nghpa ntbg;G MFk;. 
a. rpW Nfhs;fspd;   b. ,wf;Fk; el;rj;jpuj;jpd;   c. fUe;Jisapd; 
d. thy; el;rj;jpuj;jpd; e. tpil njhpatpy;iy 
 

59. Match: 
(A) World Earth Day   1.  February 4 
(B) International Day of Biodiversity  2. June 8  
(C) World Cancer Day    3. May 22 
(D) World Ocean Day    4. April 22 
     A B C D 
a.  4 3 1 2 
b.   3 1 4 2  
c.   2 3 4 1 
d.  3 4 1 2 
e. Answer not known 
nghUj;Jf 
A. rh;tNjr Gtp ehs;   1. gpg;uthp 
B. rh;tNjr cahpdg; gd;ik ehs;  2. [{d; 8 
C. cyfg; Gw;WNeha; ehs;   3. Nk 22 
D. cyfg; ngUq;fly; ehs;  4. Vg;uy; 22 

A B C D 
a.  4 3 1 2 
b.   3 1 4 2  
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c.   2 3 4 1 
d.  3 4 1 2 
e. tpil njhpatpy;iy 
 

60. The name Telangana is derived from the word Trilinga Desa, earned due to the 
presence of three ancient Shiva temples at _____________ places. 
(i) Kaleswaram  
(ii) Sri Sailam  
(iii) Draksharman 
(iv) Kapaleeswara 

 a. (i), (ii), (iii) only  b. (i), (ii), (iv) only  c. (ii), (iii), (iv) only 
 d. (i), (iii), (iv) only  e. Answer not known 

njYq;fhdh vDk; ngah; “jphpypq;f Njrk;” vDk; _________ ,y; fhzg;gLk; %d;W 
goikahd rptd; Nfhapy;fspypUe;J ngwg;gl;lJ 
(i) fhNy];tuk; 
(ii) =iryk; 
(iii) jpuhf;~uhkk; 
(iv) fghyP];tuh; 
a. (i), (ii), (iii) kl;Lk;  b. (i), (ii), (iv) kl;Lk;  c. (ii), (iii), (iv)  kl;Lk; 
d. (i), (iii), (iv) kl;Lk;  e. tpil njhpatpy;iy 

 
61. A registered party is recognized as a national party only if it wins ________ percent of 

the total number of seats in the Loksabha from atleast three different states. 
a. 2%  b. 3%  c. 4%  d. 5%  e. Answer not known 
Fiwe;jJ %d;W ntt;NtW khepyq;fspy; ,Ue;J kf;fsitapd; nkhj;j ,lq;fspy; 
________ rjtpfpj ,lq;fspy; ntw;wp ngw;why; kl;LNk gjpT nra;ag;gl;l Njrpa 
fl;rpahf mq;fPfhpf;fg;gLk;. 
a. 2%  b. 3%  c. 4%  d. 5%  e. tpil njhpatpy;iy 
 

62. Micro finance refers to  
a. The provision of financial services to domestic exporters  
b. The provision of financial services to low income groups 
c. The provision of financial services to Domestic importers  
d. The provision of financial services to international trade 
e. Answer not known 
Ez;epjp vd;gJ ___________ I Fwpf;fpwJ 
a. cs;ehl;L Vw;WkjpahsUf;F epjp Nritfis toq;Fjy; 
b. Fiwe;j tUkhdk; nfhz;l gphptpdUf;F epjp Nritfs; toq;Fjy; 
c. cs;ehl;L ,wf;FkjpahsUf;F epjp Nritfs; toq;Fjy; 
d. gd;dhl;L th;j;jfj;jpw;F epjp Nritfs; toq;Fjy; 
e. tpil njhpatpy;iy 
 

63. The Avvaiyar Award of Government of Tamil Nadu for the year 2022 was given to  
a. Tmt. B. Lakshmi Devi   b. Tmt. Girija Kumarbabu  c. Tmt. Pechiammal 
d. Tmt. Ezhilarasi   e. Answer not known 
2022 Mz;bw;fhd jkpof murpd; mt;itahh; tpUJ __________ mth;fSf;F 
toq;fg;gl;lJ 
a. jpUkjp gp. y~;kp   b. jpUkjp fphp[h FkhughG   

c. jpUkjp Ngr;rpak;khs;  d. jpUkjp vopyurp   
e. tpil njhpatpy;iy 
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64. The geographical regions of India broadly follow the physical features which are 

grouped into following regions: 
(i) Himalaya regions   
(ii) Indo-Gangetic plain 
(iii) Peninsular regions 
(iv) Western Ghats 
a. (i), (ii) and (iv) only   b. (i), (ii) and (iv) only  c. (i), (ii) and (iii) only 
d. (ii), (iii) and (iv) only  e. Answer not known 
,e;jpahtpd; Gtp,ay; gFjpfs; gue;j mstpy; gpd;tUk; mk;rq;fisf; nfhz;l 
,aw;gpay; gFjpfshfj; njhFf;fg;gl;Ls;sd. 
(i) ,kyha gFjpfs;  
(ii) rpe;J – fq;if rkntsp 
(iii) jPgfw;g gFjpfs; 
(iv) Nkw;Fj; njhlh;r;rp kiy  
a. (i)> (ii) kw;Wk; (iv) kl;Lk;  b. (i)> (iii) kw;Wk; (iv) kl;Lk; 
c. (i)> (ii) kw;Wk; (iii) kl;Lk;  d. (ii)> (iii) kw;Wk; (iv) kl;Lk; 
e. tpil njhpatpy;iy 

 
65. __________ is popularly known as the Forest Man of India. 

a. Jadav Payeng   b. Sudhir Kumar   c. Sundarlal Bahuguna  
d. Saravanan   e. Answer not known 
,e;jpahtpd; tdkdpjh; vd;W gpugyhkhf miof;fg;gLth; ___________ 
a. [hjt; gNaq;  b. Rjph; Fkhh;   c. Re;jh;yhy; gFFdh 
d. rutzd;   e. tpil njhpatpy;iy 
 

66. Which state is known for the highest population density in India? 
a. Uttar Pradesh   b. Bihar  c. Punjab 
d. Hariyana    e. Answer not known 
fPNO nfhLf;fg;gl;Ls;sdtw;wpy; ,e;jpahtpy; mjpf kf;fs; njhif mlh;j;jp nfhz;l 
khepykhf mwpag;gLtJ vJ? 
a. cj;jpu gpuNjrk;  b. gPfhh;  c. gQ;rhg; 
d. `hpahdh   e. tpil njhpatpy;iy 
 

67. Of the total forest area of the country, how many percentages the protected forest 
occupy? 
a. 25%  b. 29% c. 35%  d. 39%  e. Answer not known 
ehl;bd; nkhj;j tdg;gFjpapy;> ghJfhf;fg;gl;l fhLfs; vj;jid rjtPjj;ij 
Mf;fpukpj;Js;sd. 
a. 25%  b. 29% c. 35%  d. 39%  e. tpil njhpatpy;iy 
 

68. The River that flows Westwards through a Rift Valley bwtween the Vindhyan Range on 
the North and Satpura Range on the South is  
a. Chambal    b. Betwa   c. Narmada    
d. Son    e. Answer not known 
tof;fpy; cs;s tpe;jpad; kiyj;njhlh; kw;Wk; njw;F rhl;G+uh kiyj;njhlUf;Fk; 
,ilNa nry;Yk; gpsT gs;sj;jhf;fpy; Nkw;Nf Nehf;fp ghAk; MW 
a. rhk;gy;   b. gpl;Lth   c. eh;kjh 
d. Nrhd;   e. tpil njhpatpy;iy 
 

69. The height of Anaimudi from the mean se level is  
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a. 2690 m  b. 2695 m  c. 2685 m  d. 2705 m  e. Answer not known  
fly; kl;lj;jpypUe;J MidKbapd; cauk;:  
a. 2690 kP  b. 2695 kP  c. 2685 kP  d. 2705 kP  e. tpil njhpatpy;iy 
 

70. The energy source which can reduce global warming is  
a. Petroleum    b. Coal   c. Natural gas   
d. Geothermal energy  e. Answer not known 
fPNo nfhLf;fg;gl;Ls;s ve;j tifahd Mw;wy; Mjhuk; Gtpntg;gkhtijj; 
jLf;ff;$baJ 
a. fr;rh vz;iz   b. epyf;fhp  c. ,aw;if thA 
d. Gtpntg;g Mw;wy;  e. tpil njhpatpy;iy 
 

71. The Ajanta and Ellora caves were designated as a UNESCO World Heritage site in the 
year 
a. 1980 b. 1981 c. 1982  d. 1983 e. Answer not known  
m[e;jh kw;Wk; vy;Nyhuh Fiffs; And];Nfhtpy; cyf ghuk;ghpa jykhf 
mwptpf;fg;gl;l Mz;L  
a. 1980 b. 1981 c. 1982  d. 1983 e. tpil njhpatpy;iy 
 

72. The Gupta Era was founded by  
a. Chandra Gupta – II  b. Samudra Gupta   c. Skanda Gupta  
d. Chandra Gupta – I  e. Answer not known 
Fg;j rfhg;jj;ijj; Njhw;Wtpj;jth; 
a. ,uz;lhk; re;jpuFg;jh;  c. rKj;jpu Fg;jh;  c. ];fe;j Fg;jh; 
d. Kjyhk; re;jpu Fg;jh;  e. tpil njhpatpy;iy 
 

73. ‘Indian Society of Oriented Art’ was founded by  
a. Nihar Ranjan Roy  b. Narendra Mohan Mukherjee  c. Abanindranath Tagore 
d. Barindra Kumar Ghosh e. Answer not known  
gpd;tUgth;fspy; ahh; njhd;ikahd fiyfSf;fhf ,e;jpa rq;fj;jpid Vw;gLj;jpath; 
a. ep`hh; uQ;rd; uha; b. eNue;jpu Nkhfd; Kfh;[p  c. mgpdpe;jpuehj; jh$h; 
d. ghpe;jpu Fkhh; NfhR e. tpil njhpatpy;iy 
 

74. Who was succeeded to the throne of Marathas the Third Battle of Panipat? 
a. Narayan Rao  b. Madhav Rao  c. Ragoba 
d. Tukoji Holkar   e. Answer not known 
%d;whk; ghdpgl; NghUf;Fg; gpd; khuhl;ba rpk;khrdj;jpy; mkh;e;jth; ahh;? 
a. ehuhaz uht;  b. khjt; uht;   c. uNfhgh 
d. JNfh[p Nfhy;fs; e. tpil njhpatpy;iy 

 
75. Who was the most powerful peshwa? 

a. Balaji Baji Rao  b. Baji Rao – I   c. Madhava Rao – I 
d. Balaji Vishwanath  e. Answer not known 
kpfTk; rf;jp tha;e;j Ng~;th ahh;? 
a. ghyh[p gh[p uht;  b. Kjyhk; gh[p uht; c. Kjyhk; khjth uht; 
d. ghyh[p tpRtehj ; e. tpil njhpatpy;iy 
 

76. Match the following: 
List – I   List – II 

 A. Simhavishnu   1. Chalukya 
 B. Jayasimhan – I   2. Pallava 
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 C. Aditya – I    3. Satavahana 
 D. Satakarni    4. Chola 
      A B C D 
 a.  4 3 2 1 
 b.  4 1 2 3  
 c.  2 1 4 3  
 d.  4 3 2 1 

e. Answer not known 
nghUj;Jf 
gl;bay; - I   gl;bay; - II 
A. rpk;`tp~;Z  1. rhSf;ah 
B. n[arpk`d;  2. gy;yth; 

C. Mjpj;ah - I  3. rhj;jthfdh; 
D. rjfh;dp   4. Nrhoh; 

A B C D 
 a.  4 3 2 1 
 b.  4 1 2 3  
 c.  2 1 4 3  
 d.  4 3 2 1 

e. tpil njhpatpy;iy 
 

77. Iltumish administered by a governing class of nobility known as  
a. Naib-i-mamlakat    b. Diwani-i-ariz 
c. Niyabat-i-khudai   d. Turkani-i-chahalgani 

e. Answer not known 
,yl;kp~pdhy; eph;tfpf;fg;gl;l eph;thf FOtpd; ngah; 
a. ieg;-,-kk;yhfj;  b. jpthdp-,-mhp];  c. epahgj;-,-Fil 
d. Jh;fhdp-,-rfy;fhdp e. tpil njhpatpy;iy 
 

78. Amir Hasan Dehlui was the Sufi poet in the ____________ kings court. 
a. Muhammad-Bin-Tuglaq   b. Firoz Shah Tughlaq 
c. Nasir-ud-din Muhamad Tughlaq  d. Ghiyas-ud-din Tughlaq 
e. Answer not known 
mkPh; `rd; nj ;̀Ya; _________ murhpd; mitapy; #/gp ftpQuhf ,Ue;jhh;. 
a. KfkJ-gpd;-Jf;sf;  b. ngNuh];-~h-Jf;sf;  
c. eRUjpd; KfkJ Jf;sf;  d. fpah]{jpd; Jf;sf; 
e. tpil njhpatpy;iy 
 

79. Consider the following statements about the Attorney General of India: 
1. He is appointed by the president of India. 
2. He must have the same qualification on par with the judge of the Supreme Court. 
3. He must be a member of either house of parliament. 
4. He can be removed by impeachment by parliament. 
Which of the statements given above are correct? 
a. 1 and 2 only  b. 1 and 3 only  c. 2, 3 and 4 only  
d. 3 and 4 only  e. Answer not known 
,e;jpa jiyik tof;fwpQiug; gw;wp gpd;tUtdtw;iwf; fUj;jpy; nfhs;f 
1. ,th; ,e;jpaf; FbauRj; jiytuha; epakpf;fg;gLfpwhh; 
2. Cr;r ePjpkd;w ePjpgjpf;Fj; Njitg;gLk; mNj jFjpfs; ,tUf;Fk; chpait 
3. ,th; ehlhSkd;wj;jpy; VjhtJ xU mitapy; cWg;gpduhf ,Uf;f Ntz;Lk; 



 

16 | P a g e  APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187     http://www.appolosupport.com/ 

 

4. ghuhSkd;wk; %yk; ,th; gjtp ePf;fk; nra;ag;glyhk; 
a. 1 kw;Wk; 2 kl;Lk;  b. 1 kw;Wk; 3 kl;Lk; c. 2> 3 kw;Wk; 4 kl;Lk; 
d. 3 kw;Wk; 4 kl;Lk; e. tpil njhpatpy;iy 
 

80. The mechanism for balancing the financial might of the centre and the needs of the 
states are: 
(i) Parliamentary Standing Committee on finance  
(ii) NITI Aayog 
(iii) Comptroller and Auditor General of India 
(iv) Finance Commission 
a. (i) and (ii) only  b. (ii) and (iii) only  c. (ii) and (iv) only 
d. (ii), (iii) and (iv) only e. Answer not known 
Xd;wpa murpd; epjpj;jpwj;ijAk; khepyq;fspd; epjpj; NjitfisAk; rkd;gLj;Jk; epWtd 
topKiwfs; 
(i) ghuhSkd;w epjpepiyf;FO 
(ii) epjp MNahf; 
(iii) ,e;jpaj; jiyikj; jzpf;iff; fl;Lg;ghl;L mjpfhhp 
(iv) epjp Mizak; 
a. (i) kw;Wk; (ii) Mfpad kl;Lk;  b. (ii) kw;Wk; (iii) Mfpad kl;Lk; 
c. (ii) kw;Wk; (iv) Mfpad kl;Lk;  d. (ii)> (iii) kw;Wk; (iv) Mfpad kl;Lk; 
e. tpil njhpatpy;iy 
 

81. First Municipal Corporation in India was set up at  
a. Madras   b. Bombay   c. Calcutta   
d. Delhi  e. Answer not known 
,e;jpahtpy; Kjy; khefuhl;rp __________ ,y; mikf;fg;gl;lJ 
a. kjuh];  b. Kk;gha; (gk;gha;)  c. nfhy;fj;jh 
d. jpy;yp  e. tpil njhpatpy;iy 
 

82. Which one of the following President of India was elected unopposed? 
a. Dr. Rajendra Prasad    b. Dr. Radhakrishnan 
c. Neelam Sanjeeva Reddy  d. K.R. Narayanan 
e. Answer not known 
fPo;f;fz;l ,e;jpaf; FbauRj; jiyth;fspy; Nghl;bapd;wpj; Njh;e;njLf;fg;gl;lth; ahh;? 
a. lhf;lh;. uhN[e;jpu gpurhj;   b. lhf;lh;. uhjh fpU~;zd; 
c. ePyk; rQ;rPt; nul;b   d. K.R. ehuhazd; 
e. tpil njhpatpy;iy 
 

83. The concept of public Interst Litigation has its origin in the  
a. United States of America  b. England  c. Germany 
d. Denmark    e. Answer not known 
“nghJey tof;F” vDk; fUj;J __________ ehl;by; Njhd;wpajhFk;. 
a. mnkhpf;f If;fpa ehLfs; b. ,q;fpyhe;J c. n[h;kdp 
d. nld;khh;f;    e. tpil njhpatpy;iy 
 

84. The constitutional status of the Right to Information is ensured in the Indian 
Constitution under the  
a. Article 19(1)(a)  b. Article 19(1)(b)  c. Article 19(1)(c) 
d. Article 19(1)(d)  e. Answer not known  
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,e;jpa murpayikg;gpd; vr; rl;lg; gphptpd; fPo; jfty; mwpAk; chpikapd; 
murpayikg;Gj; jFjpepiy cWjp nra;ag;gl;Ls;sJ. 
a. rl;lg;gphpT 19(1)(a) b. rl;lg;gphpT 19(1)(b) c. rl;lg;gphpT 19(1)(c) 
d. rl;lg;gphpT 19(1)(d) e. tpil njhpatpy;iy 
 

85. Which of the following about the meaning of RTI is correct? 
(i) Demanding information from the government  
(ii) Getting information from media  
(iii) Freedom of people to have access to government information 
a. (i) only    b. (ii) only   c. (iii) only   
d. (i) and (iii) only  e. Answer not known 
gpd;tUtdtw;Ws; jfty; mwpAk; chpikr; rl;lj;jpd; gbr; rhpahdJ/rhpahdit vJ/ 
vit? 
(i) murplkpUe;J jfty;NfhUjy; 
(ii) Clfj;jplk; tptuk; ngWjy; 
(iii) murpd; jfty;fis mZFtjw;fhd kf;fspd; Rje;jpuk; 
a. (i) kl;Lk;     b. (ii) kl;Lk;   c. (iii) kl;Lk; 
d. (i) kl;Lk; (iii) Mfpad kl;Lk;   e. tpil njhpatpy;iy 

 
86. By which amendment, the words ‘secular’ and ‘socialist’ were introduced in the 

preamble of the constitution? 
a. 41st Amendment   b. 42nd Amendment   c. 43rd Amendment 
d. 44th Amendment   e. Answer not known 
murpayikg;G KfTiuapy;> “kjrhh;gpd;ik” kw;Wk; “rkjUkk;” vd;w nrhw;fis 
mwpKfg;gLj;jpa murikg;Gj; jpUj;jr; rl;lk; vJ? 
a. 41MtJ jpUj;jk;  b. 42MtJ jpUj;jk;  c. 43MtJ jpUj;jk; 
d. 44MtJ jpUj;jk;  e. tpil njhpatpy;iy 
 

87. ____________ district is not a district with low human development Index in Tamil 
Nadu. 
a. Theni   b. Nagapattinam   c. Perambalur 
d. Ariyalur   e. Answer not known 
jkpofj;jpd; ___________ khtl;lk; kpff; Fiwe;j kdpj ts Nkk;ghl;L FwpaPl;by; 
,y;iy. 
a. Njdp   b. ehfg;gl;bdk;  c. nguk;gY}h; 
d. mhpaY}h;   e. tpil njhpatpy;iy 
 

88. ___________ is the female literacy rate of India according to census 2011. 
a. 93  b. 74  c. 82.5  d. 65.46 e. Answer not known 
2011 kf;fs; njhif fzf;nfLg;gpd;gb ngz; fy;tpawpT tpfpjk; 
a. 93  b. 74  c. 82.5  d. 65.46 e. tpil njhpatpy;iy 
 

89. ___________ is the eco-friendly agricultural practices. 
a. Organic farming      b. Shifting cultivation  
c. Cultivation of high yielding varieties  d. Growing plants in glass houses 
e. Answer not known 
Rw;Wr;#oYf;F cfe;j tptrha KiwahFk; 
a. ,aw;if tptrhak;     
b. rhFgb khw;wk;   
c. mjpf kf#y; jUk; tiffspy; rhFgb  



 

18 | P a g e  APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187     http://www.appolosupport.com/ 

 

d. fz;zhb tPLfspy; tsUk; jhtuq;fs; 
e. tpil njhpatpy;iy 
 

90. Arrange chronologically the chairman of the finance commission: 
1. Y.B. Chavan  
2. K. Santhanam 
3. K.C. Pant 
4. Mahavir Tyagi 
a. 4, 1, 2, 3   b. 2, 4, 1, 3   c. 2, 1, 3, 4   
d. 1, 3, 2, 4   e. Answer not known 
epjp Mizaj;jpd; jiyth;fis fhythhpahf thpirg;gLj;Jf 
1. xa;.gp.rthd; 
2. Nf. re;jhdk; 
3. Nf.rp.ge;j; 
4. kfhtPh; jpahfp 
a. 4, 1, 2, 3   b. 2, 4, 1, 3   c. 2, 1, 3, 4   
d. 1, 3, 2, 4   e. tpil njhpatpy;iy 
 

91. The Fiscal responsibility and Budget Management (FRBM) Act was constituted on 
a. 17th January 2000  b. 1st January 1949  c. 1st July 1964 
d. 12th July 1982  e. Answer not known 
epjp nghWg;G kw;Wk; tuT – nryT Nkyhz;ikr; rl;lk; mikf;fg;gl;l Mz;L 
a. [dthp 17> 2000  b. [dthp 1> 1949  c. [_iy 1> 1964  
d. [_iy 12> 1982  e. tpil njhpatpy;iy 

 
92. NITI Aayog was established on 

a. January 1, 2014  b. January 1, 2015  c. January 26, 2014 
d. January 26, 2015  e. Answer not known 
epjp MNahf; __________ epWtg;gl;lJ. 
a. [dthp 1> 2014  b. [dthp 1> 2015   c. [dthp 26> 2014 
d. [dthp 26> 2015  e. tpil njhpatpy;iy 
 

93. Which of the following statement on social dualism is/are correct? 
1. The concept was developed by Prof. Myint 
2. It is based on the Indonesian development experience  
3. The concept was developed by Boeke 
a. 1 only    b. 2 and 3    c. 1 and 2    
d. 1 and 3    e. Answer not known 
fPo;f;fhz;gtw;wpy; r%f ,ul;ilj; jd;ikia Fwpf;Fk; rhpahd thf;fpak; vJ? 
1. Nguhrphpah; kpd;l; mth;fshy; cUthf;fg;gl;l fUj;J 
2. ,e;NjhNdrpa Nkk;ghl;L mDgtj;ij mbg;gilahff; nfhz;lJ 
3. Nghaf; mth;fshy; cUthf;fg;gl;l fUj;J 
a. 1 kl;Lk;   b. 2 kw;Wk; 3   c. 1 kw;Wk; 2 
d. 1 kw;Wk; 3  e. tpil njhpatpy;iy 
 

94. Choose the right matches among the following: 
(i) Bhagat Sigh – Reorganization of the Hindustan Socialist Republican Association 
(HSRA) 
(ii) Subash Chandra Bose – Give me blood, I will give you freedom 
(iii) Sisir kumar – Founder of Indian National Army 
(iv) Sucheta Kripalani – Advisor to Non Cooperation Movement  
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a. (i) and (iii) are correct   b. (i) and (ii) are correct  
c. (iii) and (iv) are correct   d. (ii) and (iv) are correct 
e. Answer not known 
gpd;tUtdtw;Wf;F ,ilNa rhpahd nghUj;jq;fisj; Njh;e;njLf;f 
(i) gfj; rpq; - ,e;J];jhd; FbauRf; fl;rpapd; kWrPuikg;G 
(ii) Rgh~; re;jpu Ngh]; - vdf;F ,uj;jk; nfhLq;fs; ehd; cq;fSf;F Rje;jpuk; 
jUfpNwd; 
(iii) rprph; Fkhh; - ,e;jpa Njrpa ,uhZtj;jpd; epWtdh; 
(iv) RNrjh fpUgshdp – xj;Jioahik ,af;fj;jpd; MNyhrfh; 
a. (i) kw;Wk; (iii) rhpahdit  b. (i) kw;Wk; (ii) rhpahdit 
c. (iii) kw;Wk; (iv) rhpahdit  d. (ii) kw;Wk; (iv) rhpahdit 
e. tpil njhpatpy;iy 
 

95. Gandhi-Irwin pact was signed on 
a. 5th March 1931  b. 5th May 1931  c. 5th June 1931 
d. 5th September 1931 e. Answer not known 
fhe;jp ,h;tpd; xg;ge;jk; vg;NghJ ifnaOj;jhdJ? 
a. 5 khh;r; 1931  b. 5 Nk 1931   c. 5 [_d; 1931 
d. 5 nrg;lk;gh; 1931  e. tpil njhpatpy;iy 
 

96. Match the following: 
A. Champaran Satyagraha  1. 1919 
B. Rowlatt Satyagraha  2. 1922 
C. Chauri Chaura   3. 1930 
D. Dandi Satyagraha  4. 1917 
 
 A B C D 
a. 4 1 2 3 
b.   1 2 4 3 
c. 4 2 3 1 
d. 1 4 2 3 
e. Answer not known 
nghUj;Jf 
A. rk;ghud; rj;ahfpufk; 1. 1919 
B. nusyl; rj;ahfpufk; 2. 1922 
C. nrshp nrsuh  3. 1930 
D. jz;b rj;ahfpufk; 4. 1917 

A B C D 
a. 4 1 2 3 
b.   1 2 4 3 
c. 4 2 3 1 
d. 1 4 2 3 
e. tpil njhpatpy;iy 
 

97. When was the first non-co-operation movement started in India? 
a. 1921 b. 1920 c. 1922  d. 1925 e. Answer not known 
,e;jpahtpy; vg;nghOJ Kjy; xj;Jioahik ,af;fk; njhlq;fg;gl;lJ 
a. 1921 b. 1920 c. 1922  d. 1925 e. tpil njhpatpy;iy 
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98. The Swadeshi Steam Navigation Company was started by V.O. Chidambaram With the 
aim of  
a. Developing the Indian trade 
b. Promoting the Shipyard 
c. To challenging the British Monopoly in Sea Transport 
d. Serving the commuters at a cheaper rate 
e. Answer not known 
t.c. rpjk;gudhh; ‘RNjrp ePuhtp fg;gy; epWtdj;ij’ epWtpajd; Nehf;fk; 
a. ,e;jpa thzpgj;ij tsh;f;f   
b. fg;gy; fl;Lk; ,lj;ij Nkk;gLj;j 
c. fly; Nghf;Ftuj;jpy; (gphpl;~hhpd; VfNghfj;jpw;F) Mq;fpNyahpd; Vfhjpgj;jpaj;jpw;Fr; 
rthy; tpLf;f 
d. Fiwe;j fl;lzj;jpy; gazpg;gth;fSf;F Nrit nra;jpl 
e. tpil njhpatpy;iy 
 

99. In 1920 picketing the toddy shops was conducted in Tamil Nadu by  
a. M. Singaravelar  b. Periyar E.V. Ramasamy  c. Annadurai   
d. Kamaraj   e. Answer not known 
jkpo;ehl;by; fs;Sf;fil kwpay; 1920 Mk; Mz;L ahuhy; elj;jg;gl;lJ 
a. vk;. rpq;fhuNtyh;  b. nghpahh; <.Nt. ,uhkhrhp  c. mz;zhJiu 
d. fhkuh[h;   e. tpil njhpatpy;iy 
 

100. The “Bubonic Plague” broke out in Bombay in the year 
a. 1896 A.D.  b. 1898 A.D.   c. 1899 A.D.    
d. 1891 A.D.  e. Answer not known 
gk;ghapy; nfh^u gpNsf; njhw;WNeha; gutpa mz;L 
a. fp.gp 1896  b. fp.gp 1898   c. fp.gp 1899 
d. fp.gp 1899  e. tpil njhpatpy;iy 

 


